APPED LO

ST UDY OCENTRE
MONTHLY TEST - APRIL, 2023

1. If a person is moving from pole to equator, the centrifugal force acting on
him
a. Increase b. Decrease
c. Remains the same d. Increase and then decrease
e. Answer not known

QR LANHET HIHUSHIHHA Hlev BOECHT mL CrrHd eumWBUTH  Dieuer
Bwed OFweLLIBID bWl @llevdhE alemd elalaITHD E(HbEGLWD

a. 9FHaMbGh b. @epubd
C. LOTBTLOED B(HHGLD d. oFafNsa e Gempuib
e. alewL Ozfuwalsvensv

2. The work done by the conservative force for a closed path is

a. always negative b. zero

c. always positive d. not defined

e. Answer not known

el &Bpsled  iflafleveor alengwimed GFuwtLl L Geauenev SLSLD.
a. eIIQUTIRGHID 618 TLOEMB b. s

c. emiBGumTgHID @HToens d. euemywmissiuLaleveney

e. alewL O fluwalsvenso

3. When a cricketer hits the ball with his bat, the force exerted by the bat on

the ball is force.

a. Gravitational b. Frictional c. Impulsive

d. Centrifugal c. Answer not known

wm FfEosl afff et wlenLwmed Ubmd SlgbGd Gumgl, wLen UbSHler
Bg CFibdeus QG

a. Yl elens b. 2 gruiey elens C. HMSHHTHEG alens

d. ewwelevsesd alems e alewl OHflwalsdenso

4. When a ball is projected upwards there is an increase in its

1. Potential Energy 2. Momentum 3. Kinetic Energy
a.1only b.1and 2 only c. 2 only
d. 2 and 3 only e. Answer not known

upensd  CwBsv  awbBurg o1k Gl  OCFdBEH. DLCUTWS  LHSHED
BIDHHEWIL_UBMIET 6% DIH HIfHHBH?
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1. BleweowmBped (1) FTHHWIDTERT DLBMeL 2. 2 hHod
3. BQWHs HMBM6D

a. 1w’ @Gw b. 1 wBEpb 2 W Fb C. 2 L@
d. 2 wBED 3 W' Gb e. oL OHflwalevamev

5. If “gravity’ is absent in the Universe, which of the following statement is
True?
a. Itleads to the sensation of weightlessness
b. It leads to complete destruction
c. We have day and night
d. Both (a) and (b) are correct
e. Answer not known
SIWMILGHH6L  LaIFTIL — (phHSsD  Beveneobleiied  SDEHEWIL euBMIGT 615
gflwmeng)?
a. el WeTenID 616 2_6wiTened BLBSHHID
b. wBfiid o BsGmevmar FHUBHSHID
C. 86| L&H6D 6I6iLI6d [BTD LIMT&&H60MLD
d. (@) wBpiw (b) ByewiG &
e. alemL Ozflwalsensy

6.  Which of the following is used for artificial rain?
a. Liquid oxygen b. Liquid Hydrogen
c. Liquid carbon monoxide d. Solid carbon dioxide
e. Answer not known
CFwmems wemp GuUILl GussHHer 165 SHTalILbGaISH 6157
a. Fyeu Sydbendeei b. Syeu ewami yeges
c. Flyou &iuet Gumernmdener® d. Ay sniuesr oL SuEHmev®
e. alowL G flwealsdenev

7. d-block elements are called as
a. Inner transition metal b. Transition metals c. Alkali metals
d. Alkaline earth metals e. Answer not known
d-0z168 safliokissT 6euTn DIDWSBLILIGSMBS.
a. 2 61 BenLHenevd HemLOmIS6IT b. GeLBenevd Hellomhicbe
Cc. &M 2 BeUTHmIB6N d. &1y wewt o GeuTdmidel
e. alewL Oz flwalsvensv

8. Match the class of compound with its functional group

Compound Functional group
A. Alcohol 1. -COOH
B. Aldehyde 2.-OH
C. Ketone 3.-CHO
D. Carboxylic acid 4. O
|
-C-
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A B C D
a. 2 1 3 4
b. 2 3 1 4
C. 3 2 4 1
d. 2 3 4 1 e. Answer not known
&L BU QummeneT 9iHaT allewearl OHTGH WL 6T Eenesor
L (BLIOILIT(H6IT alemelB OHTEH
A. 91605aMT60 1. -COOH
B. esv9eman(® 2. -OH
C. &L GLmesr 3. -CHO
D. snungsenieds  oidleod 4. O
|
-C-
A B C D
a 2 1 3 4
b 2 3 1 4
C 3 2 4 1
d 2 3 4 1 e. alow G flwealsdensy

9. The splendid blue colour of ultramarine, which is used in oil paints and
paper production is due to the presence of which one of the following

ions?
a. Polysulphide [ s> ] b. Chloride c. Sulphate
d. Polyiodides e. Answer not known

GTeWIOIIL  GueTeILl &S LMBBID HTell  HWMTLIed LWLBLD  SHHEVSHEHE0
(ultramarine) &HPposTERID 6HFH @H Swelwmed WasFBhHs BHoBBHmSLI

CuBmIeTeNgI?
a. uevFeoemUL B [ S ] b. &Gemeny® c. FeoBul B
d. uevoBwrenL B e. alewL Oz fwaledemnev

10.  Which of the following is/are not an allotrope of Carbon?
i. Diamond ii. Carborundum iii. Graphite iv. Fullerene
a. (i) and (iii) b. (ii) and (iv) c. (ii) alone
d. (i), (iii) and (iv) e. Answer not known
LeaumelereuBmie 61gi/ eTedeu &HTTUGNGT OTBBIH Dl6L6v?
(i) eweugd  (ii) smTGUMyewIL LD (iii) SyremuiL (iv) yeveorfest
a. (i) wmmid (iii) b. (ii) wmBpIb (iv) c. (ii) L B

d. (i), (iii) mbd (iv) d. ellew Gaflweaisdensv

11. Iodine is insoluble in water, then how Tincture of Iodine is prepared?
a. By dissolving iodine in alcohol
b. By dissolving equal amount (10g) of iodine and potassium iodide in
water
c. By dissolving potassium iodide in water
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12.

13.

14.

15.

4 | Page

d.

The aquous solution of I> and KI is mixing (upto 300 ml) in rectified
spirit

e. Answer not known

9IBGwimg et bifled SOTuITHl? Lot QRIBI 1QGOT T 9IBGwimg et

sumasliubGanBg?

a. 9BWMgmaT SLELVHABTEI60 HEDHSHI

b. g0 senayeiten  GUIMIQeEH (10g) wBmID QuILrdub SGWTmLmW [Kifled
B HGI

Cc. GumiLrdlwbd SCwremLmw BHifled SMIHSHI

d. oBwmger @@ GuT LTHwd SHBCWTEMLIQET [BTD  HOIFMED STUIFS
aYSHSH DeLBABTIL 651 BFTHa 300 ml SenelBE sFFamev HWThHH!

e. alewL OFfuwalsvenso

Glycolysis takes place in

a. Cytoplasm b. Mitochondria c. Chloroplast
d. Nucleus e. Answer not known

SlemendBmevlenilerd HewL OLBID @)L b SLGLD

a. gl GLmienmgid b. enwl’ GLmamewr fluwib C. LIGMIG6mIBLD
d. Pudeiuierd e. allew Oxflwialevemsv

The enzyme involved in unwinding of DNA is

a. Telomerase b. Helicase c. Polymerase
d. Ligase e. Answer not known

DNA wou @yewih Sewipsenis LIfliugded FGUBD OBTs wrg?

a. GL_Beumo@yerd b. GameiGserd c. umedELEFerd
d. 698merd e. alewL OHflwalevemev

Human blood grouping was discovered by

a. Landsteiner b. Punett c. Correns

d. Muller e. Answer not known

el BIHPH UMBHEN6NDH SHeWILMIHIHEUT

a. Bevestl erbleeT b. yeGeur c. Garliyeiterd

d. @weveor e. el OHflwalevemev

Woolsorters disease is caused by

a. Bacillus Anthracis b. Bacillus Cereus

c. Bacillus Megaterium d. Bacillus Subtilis

e. Answer not known

ursleflwmeured sbuel WALGURT GmTul o (Heurdmgl.

a. Gudleverd &ubSHITH 610 b. Gugeverd GaMuierd
c. Budleverd Gioam GLfluib d. Gudleverd arngaderd
e. alemL Ozflwaledensv
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16.  Which of the following statements are true of Leucoderma
1. It is a non- communicable disease
2. It is a skin disease that causes loss of skin pigmentation
3. There is no cure

a.land?2 b.2and 3 c.land 3
d.1,2and 3 e. Answer not known

Lereu(heussteuiplled aIBGaTELTomT ©jeveud OCeuemiChTU LB o 6Ny H(HHSHI
AN

l. 88 9k C3TBBTE GBI
2. @5 Cxmev mm Bpliewu gBUBGSHHID e BGzxmed Grmul
3. @BCpTuIsE dHFmg efds 1pQuITS

a. 1 pmib 2 b. 2 wmBpw 3 c. 1 wBpbd 3
d. 1, 2 wBpd 3 e. alemL Ozfuwealsdensv

17.  Which of the following is an example of Zoonotic disease?

a. Leprosy b. Diphtheria c. Rabies
d. Amoebiasis e. Answer not known
Ledteu(heueBmie 6% aleomiGdeil b BhHbaH LoaNHald@ euhD Gimui?
a. GamupGrmul b. QgTemienL  SieWL LILIT6T c. Gyle
d. ouSlwrdlerd e. alew Gxfluwiaiedensv
18.  The concentration of the sodium ion is than outside of the cell
a. lower b. higher c. similar
d. static e. Answer not known
Gamouib Swelsefer  OFplaumerd OFeoabd OGeualuled @mlums el
2_6IT6NG.
a. GOBAITSH b. edsi0n5 C. FIDIDT&H
d. Pleweowins e. allewL O flwaievenso

19. What is the development and the maturation of the erythrocyte from the
haemocytoblast is known as
a. Erythropoiesis b. Erythrocynin c. Erythrocyte

d. Haemotocyte e. Answer not known

SpHBMLaBBled  @rHsH ey  Samsbset  anliol GLmilenmerdigsellel(hba
2 (Hourd (PFHTEFF SiMLUSBE GLIWIT

a. emfgaGymumuidlerd b. eflgaGymenaefes C. aMsHHCrmengL

d. e’ GLrenat e. alewL O flwalevenso

20. Statement 1 : When blood comes out of the blood vessel haemostasis
occurs.
Statement 2 : Thrombin converts fibrinogen into fibrin.
Statement 3 : Occurrence of blood clot within the blood vessel is known as
Thrombosis.
Statement 4 : Heparin present in Basophils inhibit blood clotting.
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a. 1 wrong, 2 correct, 3 wrong, 4 correct

b. 1 correct, 2 correct, 3 wrong, 4 wrong

c. 1 wrong, 2 wrong, 3 correct, 4 correct

d. 1 correct, 2 correct, 3 correct, 4 correct

e. Answer not known

&Bm 1 stwubd gBullh @rHsd  Oeueliu@Gwlurgl  anSGomerdLmdled

GxpreimISBaI.

a&mm 2 : FICymbier. .evuLlNCamegemen . .enuIfeIms  LOTHBBIS EBTBSE.

&MY 3 : QrHsHd GLTulamieT BrHsb 2 mmHeo HGIMbGUTHerd ereiLIBLD.
amy 4 :  GuBsmisvmeisd o 6o  anfliumflear  EHHD  2_MBHEMEL
SHenL_OlFuIu|Lb.

GuoBanplLl L gappisel Ffluwimereneuuwm eler &HewrLpi.

a. 1 saum, 2 gf, 3 seuml, 4 &

b. 1 #f, 2 af, 3 seaum, 4 saum

c. 1 sauml, 2 seuml, 3 g, 4 &

d. 1 agf, 2 gf, 3 gf, 4 g

e. alewL GFfwealedenev

21.  The relief of Doklam, which is a trijunction of India, China and Bhutan is

a
a. Mountain range b. Plateau c. Plain
d. Hill e. Answer not known
@bFHw, Ferm op@Id  ylLmefler WpFFhHLUTer,  ‘Copmdeomd’ - &eot
60 GHTBHBID
a. Mg OFHTLT b. 1fLyd c. Fwleuer
C. Geml e. alewL Oz flwalsvensv
22. is the highest peak in the state of Maharashtra.
a. Kalsubai b. Kudarmukh c. Mahabaleshwar
d. Harishchandra e. Answer not known
LOSTITAZQIT LOTHIVSHHED DiMLbHSHI6TeN LOles o uwigomet FaLb
a. SHELEHLTUI b. ®LTWws C. amUBsvervAIT
d. amfesanbaym e. alem O fluelesdensv
23.  Which of the following statements are true about the location and extent
of India?
i. India is divided into almost two equal halves by tropic of cancer.
ii. India is the second largest country of the world in area

iii.  The latitude and longitudinal extent is nearly thirty degrees.
iv.  The standard meridian of India passes through Bhopal

a. (ii) and (iii) only b. (i), (ii) and (iv) only  c. (i) and (iii) only
d. (i) (iii) and (iv) only e. answer not known

ShHwmaler mUILD BpId ugliuee GBSHI Laeumbd FaBnisened g
gflwmeng)?
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1. s Gremauilemmsd @phHWT @ronelBg GFesi(h Fok LGS SeTHLl
LM &Il (HelTengl.

ii. urtidenafled 2 e0&es @rewimeug GQuilw BIFH Sbawir

iii. oI BB Hibs Crmassendd LG 2o 6en Bl Geuef
SlLalL wlug gafl guELb.

iv.  @bHwu HL Fids Crems Gumumed euflune SLbEH 6CFeOMID

a. (ii) wmpib (iii) L GW b. (i), (ii) wBpw (iv) wLEGED

c. (i) wmpb (iii) G d. (i), (iii) wBpbd (iv) wLGW

e. alewL Oxfwalsvensv

24. Match List [ with List II

List I List II
A. Debsa pass 1. Uttarakhand
B. Lekhapani pass 2. Himachal Pradesh
C. Nathu La pass 3. Arunachal Pradesh
D. Muling La pass 4. Sikkim
A B C D
a. 2 3 4 1
b. 4 2 3 1
C. 2 3 1 4
d. 4 2 1 3 e. Answer not known
ucguied I o uiuwsd II o L& QuThssis.
U iguied I U iguieo 1T
A. QLLierom  semTeumUl 1. o _Sarsmemi
B. edsmuef  @emwrteumu’ 2. anfliorEgev LITGxHFID
C. p1gh 60T SHevoreumu] 3. oimewitsge LITGHFID
D. wped®1 eom semteunul 4. HbAb
A B C D
a. 2 3 4 1
b. 4 2 3 1
C. 2 3 1 4
d. 4 2 1 3 e. allenL Qg flwalsdensv
25.  Assertion (A): The desert region of India can be divided into two

parts - “The great desert” and “the little desert”.

Reason (R): Between these two deserts lies a zone consisting of rocky land
and cut up by limestone ridges.

A is true but R is false

Both A and R are true, and R is the correct explanation of A

A is false, R is true

Both A and R are true, but R is not the correct explanation of A
Answer not known

e an o
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26.

27.

28.

29.

apm  (R):  @hdwureld Ut  UGH®W BB UGS SeNTHL

Ufléseomd “Guifiw umeneveuetd’ OBEXID ‘FPlw LTEN6VEIETD’

smeod  (R): @by Bm uTmeaamaeErssent G uTe»s  Bleod  LoBpID

FHEWIGMITIDLSHED (PBHHEMTEL Oleul L UL L e(h LDEWIL 6D ©_6iTeNg).

a. A amp gfl gemed R amyewid sHeum

b. A smm wwBmiw; R smpeod yewiGio g, wBpid A sppidster R
SMYeuwIlD &ifl

c. A amp seuml, R smyeond i

d. A sBy wopd R amgewid yewiG &f, ouamed A FmBBIbETer SIyeaiiD
R seum)

e. alewL OFfwalsvenso

By selling an article for ¥72, there is a loss of 10%. In order to gain 5%, its
selling price should be:

a. 87 b. 85 c. ¥80 d. ¥84 e. Answer not known
@ Qummenen I726@ elBumer GFuieugted 10 al(pdHsT® bL LD gBUBSBS.
5 alupdat® Seomud Qup  GeuewiGld eiled, DB CuT e alBLement
allemev elaiTanIoNTE B(HHH Gorewi(BLD?

a. 87 b. ¥85 c. ¥80 d. ¥84 e. alewL O fluwalevemen

. 16.12%16.12x16.12+13.88x13.88x13.88
Simplify: 38" 15516.12 -16.12x13.88 + 13.88x13.88

a.16.12 b.2.24 c. 30 d. 20 e. Answer not known
16.12%x16.12%x16.12+13.88x13.88x13.88

FBEGB 16 12x16.12 —16.12x13.88+13.88x13.88
a.16.12 b.2.24 c. 30 d. 20 e. alenL O flwaledensv

The Next term in the sequences

2,59,19,37,..........

a.74 b. 75 c.76 d. 82 e. Answer not known
OaTLT euflemsulelr 9IbHH 2 ML

2,5,9,19,37,........

a.74 b. 75 c.76 d. 82 e. el Oxfwaledenso

When 40 is subtracted from 40% of a number to give 40, the number is

a. 60 b. 100 c. 150

d. 200 e. Answer not Known

@ eewienilest 40% 6dmHAH 40 Mmé HPSHHTL 40 HDLSHGID 6dle0, SibSH
616001 LG LD.

a. 60 b. 100 c. 150

d. 200 e. alemL Gxflwalsbensv
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1 3
30. If X+;=5then the value of X +Fis

a. 90 b. 110 c. 120 d. 80 e. Answer not known
X+%:5mﬁaﬂa’) xﬁ%ﬂm BEAN
a. 90 b. 110 c. 120 d. 80 e. alewL Oxfluwelsvanen
31. Match the following mountains with their ranges
A. Kanchenjunga 1. Western ghats
B. Patkai 2. Karakoram
C. Vindhyas 3. Garo - Khasi
D. Mahabaleshwar 4. Aravalli
A B C D
a. 3 4 1 2
b. 2 3 4 1
C. 2 1 4 3
d. 4 3 1 2
e. Answer not known
LNGITEU(HLD  LDEN6VHMET  SIEMaUSHEIT6T Den6vd OIHTL THEHL 6T CLIT(HHSHIS.
A. ®6hTFeTmIBT 1.8wB@ OCTLTFH Lemev
B. ulamul 2.&my@&myIb
C. alpgund 3.5m@yT-&men)
D. wasrueSerdeui 4. 817016060
A B C D
a. 3 4 1 2
b. 2 3 4 1
C. 2 1 4 3
d. 4 3 1 2
e. alemL  OFflweledenev

32.  The place where Arasur mountain is situated?
a. Easter Kerala b. Eastern Gujarat
c. Western Andhra Pradesh ~ d. Western Tamil Nadu
e. Answer not known
SIS T M6V iewLobGleTen LIFGHaLoTeISH
a. FpdbE Gsyent b. Hwse GMITSH
c. Cume HATIITCsHaLD d. Gumg SOWDBTH
e. alewL Oz flwalsvenso

33.  Which of the following statements is/are wrong?
1. India is the second largest country in Asia
2. Areawise Seventh largest in the world
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3. India accounts for about 2.2% of the total area of the world
4. India shares 15200 Km long length of coast line

5. India’s longest border is with Bangladesh

6. India shares shortest border with Bhutan

a.1,2,5 b.2,5,6 c.3,4,6
d.1,3,5 e. Answer not known

LNeiTeu(HLD SnBMISH6aM60 6T6mel HeUMBTeTHI?

AhHWT S Ful Sl G @il meugd Guflw BI.

ugliuemalled o eudlem eomeugdl Quflw BTG Sbalui.

yeluled Qomshsil ugliueneled @paHwm 2.2% QsTewniBerendi
@bgHw 15200 &5, He(LpeiTen HL6O 61606N6VMWISH  6leTemT (BTN
AHHWT uEISTNCHFHBHIL I HEwIL 61606060MUI  LISITHBS.
BHHWT YL Tl 6T 10SGHBISW  61606D60MWILT LISITHEH OBTeTsImal.
.1,2,5 b.2,5,6 c.3,4,6
d.1,3,5 e. alenL OFflwelebensv

T N

34.  Which of the following statements is/are correct?
1. Himalayan Mountains are the youngest fold mountains
2. Himalayan Mountain is known as “The roof of the world”
3. The Pamir Knot popularly known as “The abode of Snow”.
4. Eastern Himalayas is known as Tibetan Himalayas
a. 1, 2,3, 4 are correct b.1, 2, 3 are correct c. Only 1, 4 are correct

d. Only 1 is correct e. Answer not known

LNeTeU(HLD FnBmIb6Me0 eTemed Fifluimenrd)?

1. Bwioemevd OHTLTH6T @6ND QLI Wmevd OCHTLTH6T HLESLD.

2. BOUIDMED ‘@ BT Fnem]’ 616 SHIMIPSHBLILBBHBGH.

3. uSjpEFs “uell 2 _emmall D’ 6T DIMPSELILIBGI MBS

4. HPHS SOV OHTL T “HoIgwiesr @uioemnev” GTEIQLD

SIMPSBLILIBGEBS.
a. 1,2,34 aif b. 1, 2, 3 & c. 1, 4 w @ &f
d. 1 w @b & e. alem O fluelsdensv

35. I The shape of Deccan Plateau is Triangle.
II. Area of Deccan plateau covers 7 lakh square km.
a. Both I, II are correct b. Only I is correct
c. Only Il is correct d. Both I, II are incorrect
e. Answer not known
[ gsarewil 1Tyl (pei@ament augalsd 2 eiTeng).
II. @& ugliuene] 7 L gD FaHF &b
a. LI s ®yewi®Buo s b, [l @G &if
c. II w @G &if d.LII oudu @rewiGG Heum
e. alemL Ozflwaledensv
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36.

37.

38.

39.

40.

Mohenjadaro is situated in the district of

a. Punjab b. Larkhana c. Bavalpur
d. Gujarat e. Answer not known

OCLTHEhaHTEIT 6hd WTaIL L HFH60 2 6iTengl?

a. UEhaFTL b. oo e C. LITGUGOLYT
d. ®muns e. alenL GxMuwelsvanew

Which among the following script is not yet deciphered?

a. Kharosthi script b. Brahmi Script c. Aramaic

d. Harappan Script e. Answer not known

OhS CIRHIHIF6T BFleueny auTHlds BuieoTHH?

a. a0ymadd eSS b. Wgmd ep&aE c. oCuwsd asHsI
d. esyiuT eSS e. alenL GxMuwelsvaned

Indus people had a close relationship with nature and they worshipped
which tree?
a. Pipal tree b. Ashoka tree c. Neem tree

d. Mango tree e. Answer not known

FbgiCeuei 1DHH6T BUIBHBMU  QUTRIBIDITTHET  DIQUTHET  61hSH  LDTHMSD
QUL L {T&61T?

a. 9IF LOJLD b. &@sns oyid C. Geuliuoyid

d. wr b e. alowL Ozfuwelsdenev

The only site of the Indus Valley which had no citadel?

a. Chanhudaro b. Lothal c. Kalibangan
d. Rangpur e. Answer not known
CamlenL @eveuns @Gy FhgFobeuei BHBIWD 61517
a. aneiGHSTCIT b. Gsurgze0 C. H6OLIBIBET
d. gy e. alowL OHflwalevemev
Match the following:
Indus Sites Excavated by
A. Chanhu-Daro 1. Suraj Bhan
B. Lothal 2. N. G. Majumdar
C. Banavali 3.5.R. Rao
D. Mitathal 4. Bisht
A B C D
a 2 1 4 3
b. 2 3 4 1
C. 1 3 2 4
d 1 4 3 2
e. Answer not known
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QUT(HSHSHIH:

bzl Fwleuel HBIHIBET SIBLDUTITUIFFuImenit
A. saiane-sT@ym 1. GIey umes
B. Geursgev 2. GIar.ed. LDEQCLDSIT
C. uemeuef 3. 6T610.OYT. [m6ll
D. 10 Lrgev 4. Vedl
A B C D
a. 2 1 4 3
b. 2 3 4 1
C. 1 3 2 4
d. 1 4 3 2

e. alewL G flwaledensv

41. Consider the statements and choose the correct option.
L. B.N. Rau was appointed as advisor to the constituent assembly.
II. 64 lakhs was spent to frame the constitution.
III.  Original constitution is preserved in Helium cases, kept in the
library of Parliament of India.
IV.  Original constitution had 395 articles in 22 parts and 8 schedules.

a.l only b. L I and III only c.Tand II only

d. All the above e. Answer not known

SPHOETHESLILLL  alaUEISH6Te0 2 euienWITEl  HHEULBMET  HWIL BIHI
GBI LD.

L. B.N. gmeil sl LoaiB Geongayrs HluldalILL (HeTeniT.

II SIIFWed HITeNIUFF LD o (HouTdd 64 UL FID 6F6e0eTeISHI

III.  odwed Semwing FlLsHer cpeoliiysd) asedwid GULiguied eneushal,
BTLT@HLOGIB [BITeVSHIHI0 LITHISTHEILGSHBSI.

IV.  opdlued plifewiwg gL gder cpeolt Lyghlufed 395 Mfley 22 ugdHsen 8
SIL_L6UNGIISHGIT  E)(TH[HH60T.

a.l w’@w b. L 1T wppww [Mw o c. 1 wsgd 11w Go
d. smeansgid gl e. allewL O flwaievenso
42.  The design of the National flag was adopted by the constituent Assembly
of India on
a. 20 June 1947 b. 22 July 1947 c. 21 August 1947

d. 23 November 1947  e. Answer not known
Bxpdlw Gamgouiler eugeuemolil] @HHW DTFFUIed HITWIULF FenLIUITED
SIIB gBmIS OBHTETEMTILIL L .

a. 20 sgeait 1947 b. 22 speemev 1947 c. 21 sumad® 1947
d. 23 meubuim 1947 e. alemL Ozfuealsoensv
43.  As per our Indian Constitution languages comes under
a. Eighth schedule b. Seventh schedule
c. Sixth schedule d. Fifth schedule

e. Answer not known
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Bg bHW SFFwevsnoliieiuly  Giomdael S aU(HB OB
a. GILLTeUSI DI L 66T b. gmeus SILLeuenes

C. BTG SIL L 6)6D6uT d. mbHsTAISH DI L eueneuT

e. alewL G flwaledensv

44. The Act of introduced separate electorates for Muslims.
a. 1919 b. 1935 c. 1947 d. 1909 e. Answer not known
ooy FULD  GeveomHlwmBoser  Hell  LIpHBHSHBHI0NHMSH
SM(psD CFUIHSI.
a. 1919 b. 1935 c. 1947 d. 1909 e. ol Ggflwalsvensv

45. The time taken for the Constituent Assembly to finalize the Constitution

of India
a. 2 Years, 11 months, 18 days b. 2 Years, 9 months, 8 days
c. 2 years, 7 months, 18 days d. 2 years, 5 months, 20 days

e. Answer not known

OhHW DTFUWIeuOLIeNL 2 (HeUTHS UMTSGEGL) THHHISCBTERIL  HTeVLD
a. 2 gyewipseit, 11 wrgkid, 18 meir b. 2 syemi(haEeir, 9 Wb, 8 Hei

C. 2 semiBHeit, 7 1onsHid, 18 mrei d. 2 eyemiBael, 5 wrsid, 20 Hrel

e. allewl G fluailstemnev

46. Who was the Chairman of the Drafting Committee of the Indian

Constitution?
a. Dr. B.R. Ambedkar b. Rajendra Prasad
c. Jawaharlal Nehru d. None of the above

e. Answer not known

ObHFHW DTSV aUmT6 s GHONGT HENEVGUT WIMT?

a. LméLir. B.R. ouGugsni b. ®mBxpdy Lggnd

C. meuamiTeomed Gm(H d. GumaaplweuBmien ereu(HLsOmM6V
e. alowL  Ggflwalsdensv

47.  Need for a constitution for free India was first suggested by

a. Motilal Nehru b. M.N. Roy c. Subash Chandra Bose

d. Mahatma Gandhi e. Answer not known

&HHFHT DHFHuTelBG T SpFmwiysd UL Couewibd 66l  (PHeVeD

ufib&Ieny &FHeuiT

a. Gurglevred Gm(H b. M.N. gmul c. auTag ahaHTGumerd

d. wasrHoT HMHS e. alewL O flwalevenso

48.  Match the following:

A. Pitt’s India Act, 1784 1. Decentralization of the Legislative
powers of Governor General

B. Charter Act, 1813 2. Governor - General’s Government
was known as Government of India for the
first time
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C. Charter Act, 1833 3. Appointment of Board of control of six
members

D. Indian councils Act, 1861 4. Deprivation of East India company’s
monopoly of trade in India

A B C D

a. 1 2 3 4

b. 3 4 2 1

C. 4 3 2 1

d. 1 3 2 4 e. Answer not known

SLPSHHEWILUBenBL  OILIT(HSHSHIH:

A UL @bHws FlLb, 1784 1. seuTenT - Oggegelledr &L L OWBBID
SIFHBMRIBENET  DIHBTTL  UJeUGOTEHBLD
CFUIH6L

B. gngensd & L1b, 1813 2. (PSS (POBUWITES  SHEUTEIT
Gleneotyedet
SPFTRIGLD  ‘OHHUI  DIJFTRISID’ 6160
DIMPSBLILIL LS|

C. gngens s L1b, 1833 3. 9ml o _pIilelTeemend OHTemIL

&U_BUUT. (G eurflund BlundebaiiubgHeo

D. @bhaws sa|aided gl Lid, 1861 4. @bFHwreled HPeEBHAHWws
sOuaIuler  aTdHHs (WBDIflenwemuls
GDBHHE0

an o
=A@y
W W N9
NN N WA
N Y

e. alemL Ozfwalsdensn

49. The secretary of the state for India in England used to be paid out of the
Indian revenues. When it was stopped?
a. 1919 b. 1909 c. 1935 d. 1947 e. Answer not known
HewiL  STeond @mdeonhHaleten  @hHu  OQsweomEsE — BhSw
aumHeuTWed(hhd emglud GFashdleugiul L gl lOUTIRSH DG HBISSUIULL SI?
a. 1919 b. 1909 c. 1935 d. 1947 e. alowL Oxflwalevemev

50.  Which of the following are the limitations on the sovereignty of the Indian

Parliament?

1. Fundamental Rights 2. Judicial Review

3. Federalism 4. Written Constitution
a.1,3and 4 b.1,2and 3 c.land 2
d.1,2, 3, and 4 e. Answer not known

B GamedeoliL BeTemouBplel  @BHHUI  LTITEBHLOSTBSSET  DDBLITETTENIDSE
9 6161 6UJLDLIEH6IT

1. ol o fennaseit 2. pAIYewITTUIR

3. gl Lmdl 4. epSILLL  SFFIUIGOEDLOLIL|
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a. 1, 3 wBpL 4 b. 1, 2 By 3 c. 1 wBpb 2
d. 1, 2, 3 wBmb 4 e. alenL GxMuwelsvanew

51. Match the following;:

A. USA Constitution 1. Removal of supreme court Judges

B. Weimar constitution of 2. Suspension of Fundamental Rights
Germany during Emergency

C. British constitution 3. Single citizenship

D. Irish constitution 4. Nomination of members to rajyasabha

SDHEWIL UBMBL  GUIT(HSHHIH:
A. 90uflss Sfuied Frgaid 1. o FFHIHIOEB HHUSSHmern
upalulledmbal BEGD (o

B. Gxgmoefufer GQeuuioT 2. OpmHEHY HTeLHH0 DlgliLdL  SIFFuled
FTFEILD o flenosemer [BlmIdaHenedFHe0
C. Ufileay opdlued grgend 3. gBeos &Glujflenip
D. mfled opduied gFrgerbd 4. UTITEHLOGTBSHH 6 GLosveneld @,
Ly HB &6l Hluoestid

A B C D
a. | 2 3 4
b. 2 4 3 1
C. 3 1 4 2
d. 4 3 2 1 e. el Oxflwalsdensv

52. Who among the following was the Cabinet Minister without portfolio in
the first ministry of Independent India?
a. C. Rajagopalachari b. T.T. Krishnamachari
c. N. Gopalaswami Ayyangar d. G.L. Nanda

e. Answer not known

&FHHFHT  DHHWTaleT (1PHe0  DIMFFTHMUNID  SLD6U(HLGITHEHET  EEUTHT
Be0eUTH SHHUWI HIMEFFTTH S (HHHeuT wrT?

a. C. grem@arumeorgamil b. T.T. &mayewrorsam

c. N. Gamumevsms gyuimisT d. GK. mhar

e. alewL Oz flwalevensv

53.  Choose the right answer about the constituent assembly

i. 15 Women members were there in the constituent assembly

ii. H.V.R. Iyengar was the the secretary of the constituent assembly.
a.ionly b. ii only c.iandii

d. None of the above e. Answer not known

SIFlwed Mmitewrl FeuemWll QUTBISSHI Fhlwmer alewlsenens CHiTe) OQFUlIsm.
1. SIpFwed Mmitewi genuulled 15 Ouewr o mInNenTeeT SHbaHeorT

ii. flwed mitewiw geouuler Gaweoymes HVR sguimisty Gawedul L
a.i (B b.ii w’ B c.1 wmpud ii
d. Gumampiw e1gieLlsvemev e. el Oxflwalevemeo
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54.  Match the following;:

A. State 1. Dicey

B. Sovereignty 2. Machiavelli

C. Separation of Powers 3. Bodin

D. Rule of Law 4. Montesquieu
A B C D

a. 2 3 1 4

b. 2 1 3 4

C. 2 3 4 1

d. 1 3 2 4

e. Answer not known

QUT(HHBHIF :

A. opa 1. emLend

B. @epuwimentento 2. oréHEWwaI6060

C. 9smy Lfalemer 3. Gumigest

D. sl LgdHear o g 4. omesTGILerdaluy

A B C D
a 2 3 1 4
b. 2 1 3 4
C. 2 3 4 1
d 1 3 2 4
e. alewL Oxfluwaledensv

55.  The doctrine “Basic Features” of Indian constitution was propounded in
the judgement of
a. Krishna Swami V. Union of India, 1992
b. Kesavananda Bharati V. Union of India, 1973
c. S.R. Bommai V. Union of India, 1994
d. Kuldip Nayar V. Union of India, 2006
e. Answer not known
AhFHw  spFfweomwlILg FrFaidHar “oOuliumLd FmmIseT aib Gsmlum®
6b® QUPHFe HTIN60 o (HeuTdsLul L g)?
Hmagemgoumdl V. @bduw eeipfund, 1992
Cagaumenbg LMFd V. @halw @amiwbd, 1973
6Ter0. oL T. Qumbento V. @bdHw geimsiuid. 1994
Geoall mrwim V. @bdHw eemsuid, 2006
alenL  Oxflwealedensv

T an o

56. A television set was sold for ¥ 1,170 after giving successive discounts of
35% and 10% respectively. What was the marked price?

a. 1800 b. 1700 c. 2000
d. 1900 e. Answer not known
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57.

58.

59.

60.

61.

QFHTLT  Hemepugser  (peopBw  35% wBpd  10%  aeSIBeTE @b
OaTemeudbaTL 1 QUL p.1,1705@ aIBSILULLGE 6afled, HHET GHBHH alemev
61601601 ?

a. 1800 b. 1700 c. 2000 d. 1900 e. alwL Ozflwealsdensv

Which of the following numbers is divisible by 9?

a. 58543 b. 56152 c. 49689 d. 89917 e. Answer not known
BB OEHTBHBLILIL (BeiTen elawidbeiled 98160 UGUBLD 6T6wT WITGI?

a. 58543 b. 56152 c. 49689 d. 89917 e. alewL Gxflwalsbensv

In an examination A got 25% marks more than B. B got 10% less than C
and C got 25% more than D. If D got 320 marks out of 500. Find the marks
obtained by A.

a. 405 b. 450 c. 360 d. 400 e. Answer not known
@ GBxmaled A eaeaiueum Beow el 25% wHIOUeEISeT DHBWD GLBDBICTEMTT.
B aaiuaut Ceoows ol 10% @eowpeurs GQummeiemmt. C eeiueu Denw efll
25% wHICuHeT SIFHD CQuBEIeTenTT. D ereiueuT OGTHS LOAIGLIGHIHENT
500 &@& 320 QumpleenTT eTediled A eTediLiouT QUMM WA ICLIETIHET 616666, ?
a. 405 b. 450 c. 360 d. 400 e. alem GaMualsbensv

A dealer allows a discount of 10% and still gains 10%. What is the cost
price of the book which is marked at Rs. 220?

a.Rs. 120 b.Rs.150 ¢.Rs.180 d.Rs.220 e. Answer not known
R0 UsSBHIer alemeouied 10% HelienLy OFuigsTeuld e elwmurfdag 10%
BeurUD  HMLBHBSHI. DISHBHH T GBIHS alemwev Rs. 220 erefled DiHeit
SILSHBalene0 WITgHI?

a.Rs.120  b.Rs. 150 ¢. Rs.180 d.Rs.220 e. alenL Gaflwaisoenso

1) (1 1) (3 1
i ifv: [1-= |x| === || 2= | =
Simplify ( 2}{2 j ( 2]

a 1 b. 3 C. 1 d. -1 e. Answer not known
2 4 4 2
sraam 1otk L_1)(3_1)_
GO 2) 2747472
a 1 b. 3 c. 1 d. -1 e. alenL GaMuwalstenev
2 4 4 2

Which act empowered the constituent Assembly as a fully ‘Sovereign
body’?

a. Government of India Act of 1919

b. Indian independence Act of 1947

c. Government of India Act of 1935

d. Indian Councils Act of 1909

e. Answer not known
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SITFMIOLL| BIeN6Y  (LP(LREOLOWITET  EeHBUWLITERIeNLD UTWIHSHSHI 6IdIWI  61h%H FL L LD
Fplwig)

a. 1919 — sib SLewgeT BbhHU DFSHFFFLLID

b. 1947 — soub SewigeT BhHul FHHATFFL LD

C. 1935 — oI Sewiget DHHU DPHFEFFLL LD

d.1909 — eyb syewigeT Bh&HW Bajedled FLLID

e. alewL Oxfluwalsvenso

62.  Which of the following is/are not the elements of the state?
1. Population 2. Territory 3. Citizenship 4. Sovereignty
a. 1l b.2 c.3 d.4 e. Answer not known
LesaumelameuBmie 6%/ elenel SITSleT FnBIde $I6060?

1. wéseoHTEND 2. BHeoliuGa)
3. @ufleno 4. SOBUITEETENLD
a. 1 b.2 c.3 d.4 e. el Oxfwaledemen

63.  The distribution of powers between the centre and the states in the Indian
constitution is based on
a. Minto Morely reforms, 1909 b. Montegu Chelmsford Act 1919
c. Government of India Act 1935 d. Indian Independence Act 1947

e. Answer not known

BhHUl  SIFMLILIND  DSHHUl  LOBBID  OTH6VRIBEHHS L CUILITeT IS ST
URISH 6hd FLLGHH&T SglitenL ulled eUMISLILIL (HeiTerng?

a. Wew@Lm rTel ST HHIHmIE6T, 1909 b. omewiCL (@ OFberd@Gunith FULib 1919
C. @bhHw SFFTRIS FLULID, 1935 d. @b G&FHpHAT FULD, 1947

e. alemL Ozfwailebensv

64. Match the following:

Schedule Subject
A. First Schedule 1. Division of powers between union and
states
B. Eleventh Schedule 2. Anti-Defection Laws
C. Seventh Schedule 3. Names of states and union territories
D. Tenth Schedule 4. Panchayats
A B C D
a. 3 4 1 2
b. 1 3 4 2
C. 2 1 3 4
d. 3 1 4 2 e. Answer not known
SLPHBWILaUBenB  CLT(HHHIS.
UL 19U 16D QuUm(mHeIT
A. 1p3e0 LI 19160 1. LHHW SIF& WOBEID LOTHEORISHEIT

AL Cwwiner  oIFHSTy USlTey
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B. ugl@enmmeiimmd L 1guied 2. sLFHPHTeU60 HWLFFL L LD

C. gpmb L 19uied 3. LOMH6VMIB6NT (OBBID UL 60TUI6HT
yCpamisefen GuUWIT
D. ugsmb uliguied 4. UEhFTWSHS
A B C D
a. 3 4 1 2
b. 1 3 4 2
C. 2 1 3 4
d. 3 1 4 2 e. alewL GxMuwelsvanew

65.  Which one of the following is NOT an item in the 11t schedule of the
Indian constitution?
a. Social forestry b. Health and sanitation
c. Public distribution system d. Prevention of cruelty to animals

e. Answer not known
BIpHHMILauBBled b SFwevenioliier 11 eughl L alenemiuied &e0euTd

5153 ag!?
a. FPBEdH  HT(HSB6IT b.2 160 BevlD WLBEBID HSTHIFLD
C. urgl alPGWTs (Wemm d. elevrid eUMBLIBHMeVSH HEML CFUIH60

e. alewL Ozfuwalsvensy

66. Assertion (A): Dadabai Naoroji organized the East India Association in
London
Reason (R): He wanted to influence the British Public opinion
a. (A) and (R) are true and (R) is the correct explanation of (A)
b. (A) is true, but (R) is false
c. (A) is false, but (R) is true
d. (A) and (R) are true and (R) is not the correct explanation of (A)
e. Answer not known
appl (A):  sremutw  CpemGyred  SHsdHHws  BBHMB  GURIL 660
2 (HoUTEBIGUTIT
smrewid (R): filyes OGunginsser smeHHear e CFsdansd gBUBSSD
a(HLDLNGoTTIT.
a. (A) wppid (R) afl. wBpib, (R) (A)ssten sflwrer alendsib
b. (A) sfl spemed (R) seupi
c. (A) soupl. syemmed (R) &
d. (A)wsmpiw (R) &M wspid (R) (A)ssrer gfwmer alensasosds
e. alemL Ozfwalsdensn

67.  Which Governor under British Rule is called as a ‘Continental Emperor’?

a. Curzon b. Duplex c. Robert Clive

d. Warren Hastings e. Answer not known

obd SpepBT Lflyad o fullear S ‘sewi CUITFT o6l DIMSHSLILLLTT?
a. &irgei C. lpuliBer C. MUl &lewerell

d. aungesr Gamerdigmied e, alenl Ggflwalsbenev
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68.  Which of the following is not associated with Gopal Krishna Gokhale?
a. Monthly Magazine, “Voice of India” b. Ranade institute of economies
c. Servants of India Society d. None of these
e. Answer not known
Leirau(meussteumplled Gamumev slmapent CHmaBGsvaL el GHTLTL Be060THH 61517
a. oty s, ‘@hsHwuraler Gye0’ b. geBL  QuIT(HeMT&HTY [ EIeu6TD
C. @b LamAuIT FRIBLD d. 8mear ggidlevenev
e. alemL Ozflwaledensv

69. In which of the two years did Subash Chandra Bose was elected as the
president of the Indian National congress.
a. 1938 and 1939 b. 1940 and 1941 c. 1942 and 1943
d. 1944 and 1945 e. Answer not known
guted ghaHy Gured Gmwpens GhHw Capflw SThHTHES HMELATTS
GaMbOHBeHSUILIL L. o601 ([H 6N
a. 1938 wmmib 1939 b. 1940 w@mmib 1941 C. 1942 w@mmib 1943
d. 1944 1Bmid 1945 e. alowL Opfuialedenso

70.  Which of the following statements about the early years of the Indian
National Congress is not true?
a. Indian National Congress was founded in 1885.
b. Promotion of national unity was its major objective.
c. It demanded independence from the British
d. It strived to create a common political platform.
e. Answer not known
Obsw Cxdw smmgyaier LU STEUHMS LBBSIL LNGeUHD  FnMBBIsHere0
g FHWTeIH Dlev6ev?
188560 @bl Chdwl STRSITED HloumSLILIL L H
Bl @HemUILITL ML GUATTLILGI DIHeT (PSSl OB TeTmHWTEGHLD
91F SESCowTsalLD albhHmevenut Csmiluig
9P RH RHRSMMIHSH DTFUID H6Nd 2 (HeuTHSILTHLLL S
alemL  OFflwealedenev

oan ow

71.  Which of the following statements are true about Alan Octvian Hume?
(i) The father of Indian National Congress
(ii) An eminent Economist
(iii) President of the Lahore Session in 1893
a. (i) only b. (i) and (iii) only c. (i) and (ii) only
d. (ii) and (iii) only e. Answer not known
ohevert ECLallwer ansluyld uBBlw SaBmISeTed 6% 2 ewientn?
(i) @bHw Capdlw stEdyemier HHms
(i) 9 Fvbs GUIGSTTSTY Lo
iii) 1893 B0 eUTaT SiOTaleT HeMeveuT
a. (i) @b b. (i) wmBpub (iii) G  c. (i) wBpid (ii) L G
d. (ii) wppibd (iii) ' Ew  e. alewL GOzfwealsdensv
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72.  The third session of the Indian National Congress was presided by

a. A.O. Hume b. Annie Besant c. Fakruddin Dyabji

d. Dadabhai Naoroji e. Answer not known

cpaipTaugd @bHw Cxrdlw  stmSFed  WwIHIMH SHemeVenLou 60
BHenL GUMBBGI.

a. A.O. anfuyb b. oeell GuFes C. udbehFHen Suimied

d. srgmur Open@yred  e. el OFflwalsdensv

73. In which session did congress declare complete Independence (Purna
Swaraj) as their goal?
a. Lahore session 1929 b. Calcutta Session 1929
c. Lucknow session 1932 d. Delhi session 1932
e. Answer not known
abd STRHTOD IoTalled (P FHHHTHOSH  (LTew  e0auITel)  SHedl
GB&aCsTeaas SPalshss?
a. 1929 eumamT SOTeY b. 1929 @e0BHHT SidiT6Y
C. 1932 cudBemm SOTE)] d. 1932 QL&) ©joiTey
e. alemL Ozflwaledensy

74.  Who was the founder of the Deccan Education Society (1884)?

a. M.G. Ranade b. Devendranath Tagore c. Jyotiba Phule
d. Ayyankali e. Answer not known

wnft Hbdmentd  He0alSHINHID (1884) Siemiolienul BlmieleniT?

a. M.G. gmenGL b. GxB8aupbATHTH HTamT . Cmradlur 1Gsv
d. ouiweisme e. alenL Gxfwaisvenev

75.  Victoria Memorial Hall at Calcutta was constructed during the regime of

a. Ripon b. Elgin c. Curzon

d. Hardinge e. Answer not known

&H0BHFTalled o eiten  alsCLmflwm  Hleweme] wewiL LD wWIT Q' &  HTELSHSH60
UL Lg?

a. Miies b. erevailes C. HTF6H

d. emmmgeh e. alewL Oz flwalevemsv

76.  Who repealed the Vernacular Press Act and earned much popularity
among India?
a. Lord Curzon b. Lord Ripon c. Lord Lytton

d. Lord Mayo e. Answer not known

BTG  Owmfl OFuIHSSTeT FLLHMS FHH OCuig @bsHw wHseient G
QuEBLD Yslp Oummeu.

a. &g Ly b. Miuer yy C. eIl Len LAy

d. GuwGwr 1y e. alenL GxMuwealsdenew
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77. In 1861, the Indian Civil Service Act was passed by whom?

a. Warren Hastings b. Canning c. Wellesley

d. William Bentinck e. Answer not known

1861-1b &YewTge0 ‘@hHW Glgemioll Lewll’ FULSHmSH OBTewi(B eub HeuT WmT?
a. eumyest Gammerdigmierd b. smefimi C. Ga1606l6VEEY
d. efevedwid GuieuTgm e. alemL Ozfuwealsdensv

78. Match List [ with List II:

List I List II

A. India Councils Act of 1861 1. Lansdowne
B. Royal Titles Act of 1876 2. Rippon

C. Factory Act of 1881 3. Canning

D. Indian Councils Act of 1892 4. Lytton

A B C D
a. 1 3 2 4
b. 3 4 2 1
C. 1 2 4 3
d.

3 1 4 2 e. Answer not known
utwed I &g uluied Il o L& QUTHSHSIS.
U guied I U lguie 1T
A. @hFHws seyerdled FLL LD 1861 1. Gevetrerd@L et
B. @hdw 585 ops OGuwit fpliny s LD 1876 2. fdues
C. OmfiBarensod FU Lib 1881 3. srein
D. @bdw seayeidlsd FU LD 1892 4. edLLevr
A B C D
a. 1 3 2 4
b. 3 4 2 1
C. 1 2 4 3
d. 3 1 4 2 e. alenL GaMuwalstenev
79.  Match the following:
A. Al-Beruni 1. Tabaqat - i - Nasiri
B. Minhaj - us - siraj 2. Mifta - ul - Futuh
C. Ziauddin Barani 3. Tarikh - Al - Hind
D. Amir khusrau 4. Tarikh - i - firoz shahi
A B C D
a 1 3 2 4
b. 4 2 3 1
C. 3 2 4 1
d 3 1 4 2
e. Answer not known
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80.

81.

82.

83.

QUT(HSHSHIP.

A. 960 - Guped 1. sussdh - § - BAM

B. fles1 amel 2 o0 Symey 2. O IBT 2 60 UGN

C. Bwmeys et Lmyef 3. o1fld - o0 - andlibg

D. it @erom 4. m1ild - & - QuGITeL agTand
A B C D

a. 1 3 2 4

b. 4 2 3 1

C. 3 2 4 1

d 3 1 4 2

e. alowL G flwalsdensv

Who was the true disciple of MG Ranade?

a. Tilak b. Gokale c. Gandhi
d. B.C.Pal e. Answer not known

MG pgren@Lufleir 2_ewteniowiment FLT wimT?

a. Fleost b. BsraGsv C. BMbHI
d. B.C. umed e. alewL GaMuelsbenew

Dyarchy in the provinces was abolished by the

a. Indian Council Act, 1909 b. Government of India Act, 1919
c. Government of India Act, 1935 d. Indian Independence Act, 1947
e. Answer not known

LOTHTETRIBEMED L L WITL & 61H6i (LpeOlDd LBl L 7

a. @bFHw seyerdled FULID, 1909 b. @pFHw SEFF LD, 1919

C. @bHW SHFFLLID, 1935 d. @b alpsmevda LD, 1947
alenL  OFHflwaledenev

How many delegates attended the 1st meeting of the Indian National
Congress?

a.72 b. 78 c.75 d. 70 e. Answer not known
Waeomaugd BhgHw Cxhdlul sTmdFed WIHTLIR HevbEH OETeiL  LIFHbHesel
eI GHement GuiT?

a.72 b. 78 c.75 d. 70 e. allenL Qg flwalsdensv

On which of the following sessions of INC the resolution on Fundamental
Rights and Duties were adopted?
a. Lahore Session b. Bombay Session c. Karachi Session

d. None e. Answer not known

b Cxdw stmdredar 6bdh SwJalled SgliemL 2 FlewodeT  LOB®ID
SLFH60 @ SHITISHmS HenpGeummluig?

a. GUT&n] SIDT6) b. umbGu Syjey C. BITFS SIDTa|

d. eglesveney e. alenL GxMuwelsvenew
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84.

85.

86.

87.

88.

89.

In which year did the Moderates and the extremist unite once again?

a. 1911 b. 1912 c. 1916 d. 1920 e. Answer not known
WHaTHE6T BB SalFeuTdsen NI SemenbheHe 6TCLTIHI?

a. 1911 b. 1912 c. 1916 d. 1920 e. alewL Gafuwealsvensy

Who chaired the Nagpur session of the INC held in December 19207

a. Gandhi b. Jawaharlal Nehru c. Annie Besant
d. C. Vijayaragavachariar e. Answer not known
1920 wawui wrsd BTHYfed BLbsh INC omaled sHemevenoGuimmpeut wmi?
a. &b b. maasTeored Ghmp C. el GuUFes
d. C. elmuynseuréamiluwimT e. allenL G flwalstenev

Find out the odd number in the series given

5, 6,10, 20, 35, 60, 96

a.6 b. 10 c.20 d. 35 e. Answer not known
Ledteupld eTemigeir QHTLTouflengulled QUTBHSHTSH 6T6HTEN6MIE HTCIISH.

5, 6,10, 20, 35, 60, 96

a. 6 b. 10 c. 20 d. 35 e. ol Gxflwealsdenev

What percent of a day is 3 hours?

a. 12%% b. 16%% C. 18%% d. 22%% e. Answer not known

@ BHremed 3 wewll CHIHHBET FHAIHID 6l6ilaleNe]?

a. 12%% b. 16%% C. 18%% d. 22%% e. alewL Gxflwealsdenen

A trader buys an article for Rs. 1,200 and marks it 30% above the C.P. He
then sells it after allowing a discount of 20%. Find the profit percent.

a.5% b. 4%2 % c. 4% d. 6% e. Answer not known
@m  alwmumfl @  Oummenenm  @5.1,200  eummiSlenTT. ety  DISH6d

SIL5Halmevdb& Bwed 30% GNSHD almevsd 20% SelepUy QEThHeESBTT.
alBm eleweouller eomud %  ereirear?

a.5% b.4% % c. 4% d. 6% e. alewL Oxflwealsdenen
Find the value of \/74+ \/44+ V2245 + V16

a.b b.7 c.6 d.9 e. Answer not known
\/74+\/44+\/22+\/5+\/1_6 We Wi STemT

a.b b.7 c.6 d.9 e. alemL OQFflwaledensv
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90. If the sum of a number and its square is 182. What is the number?

a. 15 b. 26 c. 28 d. 13 e. Answer not known
Q(H 6TENIMIL 65T DIHE UTHHHMBHE Fnl I9aITe0 182 HlewL B 6160 HbHS
oTemr  Wimg)?

a.15 b. 26 c. 28 d.13 e. alemL OQFflwaledensv

91. Which of the following statements are true about Ramalinga Adigal?

i. He started the Samarasa Suddha Sanmarga Satya Sangam in 1865.

ii. He was against caste system

iii. = He established Satya Dharma Salai in 1867

a.i is true b. i and iii are true c. 1,1i and iii are true

d.iand ii are true e. Answer not known

LeTeu(heuaTauBmIe @TToedmis SigHeT LUBBIUl 2 6moTenIoWITT FnByml 61517

1. QIToedmE DIYH6T FOJF HihH FAIOTTEHES FHU FRSHMS 1865-60
SIS S

ii. BImoeims DIgHeT WTHU (LPpenBdhE 6ISHTTe6uT

1ii. Bymoedmd SlgH6eT 1867-60 FHW SO FTenevenu! HlmiedeoriT
a.1 L (BHD 2_ewTenLDWITEISEI b.i wBpd iii G o _awTenDuLITeIS
C.1,1i wmmud iii o ewienwwinerg d. i wBEIDd ii WU G 2_6wIenOUIT6IS]
e. alemL Ozflwaledensy

92.  Which of the following are correctly paired?

1. Nizhal Thaankalgal - Vaigunda Swamigal
2. Hindu Progressive Improvement Society - Rajaram Mohan Roy
3. Samarasa Sanmarka Sangam - Vallalar

4. Self respect Morality - Vedanayagam Pillai
a.land3 b.1and 2 c. 1 only
d.1,2and 4 e. Answer not known

gflwrsll QummpssILLL Cxmysmend GHibhOHHoHH|LD

BILD6D  HTHRIBEOHENT - MEUGEWIL  FieUTLOlg6IT

Aba WPBGUTEE (PHIGaIBB FhisLD - grggnymd Guomeest [Tul
FOJF FIOTTHS FRISLD - GUGITEITVITIT

suoflwmems Quisbsld - GeougpTwsd Leitenert

a. 1 wBp 3 b. 1 wBpd 2 c. 1 @B

d. 1, 2 wBpbd 4 e. allewL O flwaievenso

93. In 1898, the widow’s home in Madras was founded by
a. Veerasalingam pantulu b. G. Subramani
c. Kaja Ramakrishna Rao d. Sivapriyammal
e. Answer not known
1898 1b syewi(p O Jreniled allFHemeusel Ee060HMmS GMLIBSHS WG]
a. affgaimsld LbHa) b. 2. alnlyiemnd
C. &TT JILOE (HAREIJT6M d. Feulflunbiomerr
e. alemL Gz flwaisdenev
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94.  Which of the following was founded by Rettaimalai Srinivasan?
a. Sakya Buddhist Society
b. Advaidananda Sabha
c. All India Depressed Classes Association
d. Adi Dravida Mahajana Sabha
e. Answer not known
LNeTeU(HOUSIBMIGT 6lhdH FenLl ST DL DML FelleUTFITED HIoUMBISLILIL L 7
a. sTHaW Ouess FmIsGLD
b. sismeustahsd guT
C. OIFle0 @hHW bBHHIULGLIT FmISD
d. o8 Hyrel wsTmen Fenu
e. alewL Oxflwalsvensv

95.  Which one of the statement is correct regarding Iyothee Thass Pandithar?
i. He started Advaitha Aandha Sabha in Nilagiri in 1870.
ii. He started Dravida Mahajana Sangam in 1881.
iii. =~ He started the formal orupaisa tamilan in 1907.
iv.  He started Sakiya Buddha Sangam in 1898.
a. (i), (ii) are correct b. (ii), (iii) are correct
c. (iii), (iv) are correct d. (i), (ii), (iii), (iv) are correct
e. Answer not known
SpHILauBled DCWTSHHSTF ULewigST UBM FhlwTer SwBml 615I?
1. ®euT 187060 SISHMUSHMBST 613MB FenLlenw! Heodflulled STLbLISSHTT.
il. 188160 SHlymalL W&ETRET FRSHMS TWDLISDHTT.
iii. 190760 @ ewUFT ST 61B USHSHTEmeent LTSS
1v. 189760 gTHSW LHDH FRISLD 616D SDIeHOLIENL HLILDLIGHSTT.
a. (i), (i) wiew &M b. (i), (iii) wl @G &m
c. (iii), (iv) wl@w & d. (), 3D, @ii), (v) gflwmerg
e. alewL Oz flwalsvensv

96. Which of the following books are written by Al Beruni?

1. Fatava-i-Jahandari 2. Kitab-fi-Tahqiq
3. Qanun-i-Masudi 4. Javahar-fil-jawahir
a.1and 3 only b.1,2and 3 c.2,3and 4
d. All of these e. Answer not known
LevTeu(hHeuadToUBmIeT 6% LISHHBMIBET 60 LIHelwmed 6T(pSLILIL L 6n6u?
1. ugTeum-L1-amb &l 2. Sgmi-i-585
3. &TeI6i-B-10G ) 4. 26UaBT-L160-236uansT
a. 1 wBpd 3 w' B b. 1, 2 wBmyb 3
C. 2, 3 wBE@ILD 4 d. CuBsewiL SIMRIHHID
e. alemL Oxflwealedenev

97.  Who among the following wrote a book about the Bahmani Kingdom?
a. Bhukhari b. Abu Bakr c. Firdausi
d. Isami e. Answer not known

26 | Page PH: 044 - 24339436, 42867555, 9840226187



98.

99.

100.

UedteupUsuia@ene umilel Guigensll uBBlw LUSHSSHMS 6(LpSHIWeuT

a. yamfl b. @y ussi c. ..LTOxend
d. ®@smd e. oL OHflwalevemsv
Match the following
Book Author
A. Tahqig-i-Hind 1. Amir Khusrau
B. Nuh-Siphir 2. Firdausi
C. Chach Namah 3. Alberuni
D. Shah Namah 4. Abu Bakr
A B C D
a. 3 1 4 2
b. 3 2 4 1
C. 3 4 2 1
d. 4 1 3 2
e. Answer not known
CUT(HSHSHIS
L& HBLD S Ffuwir
A. 385-B-anlibd 1. OUST @erogmeil
B. m — .97 2. CLTOHend]
C. & - pD 3. oeoLime
D. egmr — B 4. 9| UbDBT
A B C D
a 3 1 4 2
b. 3 2 4 1
C. 3 4 2 1
d 4 1 3 2
e. alewL O flwalsvensv
History of the slave dynasty in Delhi Sultanate was written by
a. Hasan Nizami b. Ibn Battutah c. Bhukari
d. Firdausi e. Answer not known
H6vel FELHTAHHHE0, DIGEMLD GUDFSHSHIET CUTEOTHBENM  6T(LPSIUIGUT
a. amrge Hlegmid b. &1 ugTsT c. yam
d. drezpend e. allewL O flwaievenso

The Book that is not authored by Amir Khusrau

a. Laila Majnu b. Tughlaq - Nama c. Khamsah
d. Kitab-ul-Rehla e. Answer not known

SIOT GHENOJTeUTeL GTWRSLILLTSEH LSHSHSHLD

a. GMGVGVIT LDERE) b. sidbend HO C. &Iba

d. dami-e_so-ydleor e. allewL Oxflwalevemnso
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101.

102.

103.

104.

105.

Which of the following statement/s is/are correct

1. Tamil Nadu launched the global Tamil angels platform called “Udhavi
Karangal” for investments to start-ups

2. The platform is supported by Tamil Nadu startup and Innovation
Mission

a.1lonly b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

Hetaumd amppiseied afiwmeargd / el gl / eleneu?

. ysesThed (WPHSHBEHHETE SOWBTH T&H ‘o FHal SIS  elenld
2 cuaamalll (PHOLLTeNT HMHmSHs OHTLmIS|6Teng

2. @by ook SOPHTH USHEOSTH0 LBBID USHDD  (LPSHEDLOUITED
IIRIELE X ANBICEES

a. 1 ' @Gw b. 2 wl@Gw c. 1 wBmib 2
d. @yemBLev6ev e. alowL OHflwalevemev

India’s first STEM innovation centre is inaugurated in

a. Delhi b. Mumbai c. Bengaluru
d. Chennai e. Answer not known

bgHwraler (pxHev STEM seawi®GLiiglil] epwowid OBTLBISOULL S 1D
a. G606l b. @pibenui C. OUIBIBEH(H
d. Goetenen e. el Oaflwalevemneo

India’s first fully digital banking state is

a. Tamilnadu b. Gujarat c. Kerala

d. Goa e. Answer not known

@bFHwreler (P&Hed (LPIOEMOWITET QeI L 60 6URISI LIWeTUTL (B LOMHIe0D
a. sOHIH b. &mrTs c. Gayemm

d. Gasmeur e. allewL O flwalevenso

The year 2023 has been declared as the International year of

a. Glass b. Millets c. Plant Health
d. Pulses e. Answer not known

20239110 opemih FTeuCaha EWILTEH DSlalssliLL (HeTeng

a. SHEuTeuITIY b. Sewen C. HT6UJ [H6VLD
d. U@y euensmeit e. alowL OHflwalevemev

Consider the following statements

1. PARAKH is the India’s first national assessment regulator

2. It's purpose is to test the skills of the students at higher secondary level
3. It has been launched as a part of the National Education Policy 2020
Which of the above statements are true?

a.1only b.1 and 3 only c. All of these
d.1and 2 only e. Answer not known
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LNeTeU(HLD SnBMmIBm6T SIS
1. ugd (PARAKH) eeug @Gbhswmelsr  waed Capdw  wdini G

SL_(HUUTLLT6NJm@LD

2. @5 Cuweoplemevd FHIHFH6O 2 6ffen  OTeWIAUTHeMNET — HmBewenr  SHLITW
92 (HUTSHBLILIL_(H6iTeNGI

3. 88l Gxpdlw H60615H OlsTeTens 20208601 Qb SIhIGBLOTES
CHTLBISLILL (H6TTETS).

GuoBanpweuBmien Fflwimerenel sleneu?

a. 1 wl @b b. 1 wBpb 3 W G C. SIMOTHSEID

d. 1 wBpid 2 w @G e. allewL O flwalevenso

106. The International kite festival was celebrated in

a. Ahmedabad b. Kolkata c. Tuticorin
d. Aizawl e. Answer not known

FmauBsha &TBMTY SHHalpr Gsmemwrm iU’ L &b

a. OIBFHTUTS b. QsTeOSHHHT C. HNHHHGSIQ
d. souigmed e. alowL OHflwalevemsv

107. India’s first underwater metro is to come up in

a. Mumbai b. Kochi c. Kolkata

d. Bhopal e. Answer not known

BhHuwmaler (WpHeo bHbHlpuled OFeoeud Gl Cym CFemeu 6IMIG eUT6a|6iTeNg)?
a. (6oL b. Gansd C. Q&TOBHHI
d. Gumumed e. alem O fluelsbensv

108.  The aim of Amrut Bharat Scheme is to
a. Provide free food grains
b. Improve inland waterways
c. Expand and upgrade broadcasting infrastructure
d. Modernise railway stations
e. Answer not known
oIfls umg L sHlar Crresd

a. ®eveF 2 6wie| HTENWRISEMET GULDKIG)SH60
b. o 6T (B BMIIBUTSGMTSHMS GLOIDLIBHHIH60
C. qelugly o sl Lawlmu alfleurdgsHsd wBmid Gobu®sHsigHeo
d. Bruiled MemeLWIBIBMET HATGITLOUILOTEESH60
e. alemL Ozfwalsdensn

109. Cyclone - I is the joint training exercise between India and
a. Maldives b. Russia c. Egypt
d. Sri Lanka e. Answer not known
nFHCeorert — [ ereiug @bHEHwIT LBBID BTBHEHHS L Cuiwmer gnl (B
Sgremieu’s LulBdwm@L
a. LoTeVSHH6|H6iT b. ®yaguir C. erdlig)
d. Beomiens e. alemL Ozfuelsdensv
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110.

111.

112.

113.

114.

The fifth Kalvari class submarine of Indian Navy is

a. INS Vagir b. INS Khanderi c. INS Vagsheer
d. INS Vela e. Answer not known

AhHw SLBUMLUTGT QB TeUH HeLUTT UME HTELPDSSH HLILIGD

a. INS eurai b. INS &i8sM c. INS aunadr
d. INS Geueor e. oL OHflwalevemsv

The movie that won Golden Globe Award 2023 for the best original song
is
a. Koozhangal b. RRR c. Kantara

d. Chello Show e. Answer not known

Fphsy UTLeGsTe 20238910 spewigert  CsmeoLer  GHGenml  allhg  OUBB
SHlewyliLL b

a. FnlPTHIG6D b. eyTeyiey C. BMHSGTIT

d. GFebBeunBagT e. alowL Gxfwaledemev

Choose the personalities from Tamil Nadu who have won the Padma
awards in 2023?

1. Vani Jairam 2. Manohar Devadoss 3. Subhadra Devi
4. Masi Sadaiyan 5. Paalam Kalyanasundaram
a.1,2,3and 5 b.1,2 and 5 c.1,4and 5
d. All of these e. Answer not known

LNeTeu(HLIGUTSH@HOT 202381 SLewNgBETen USHWD  al(hadl OuBB  HOPHTL oL F
GabhHeUTHM6ND  HewILMls

1. eumemil OEuiFmbd 2. wBea Ggeugmerd 3. augym Gxpal
4. ond FemL et 5. U6V &6VWITENT SbHSHILD
a.1, 2, 3 wBmb 5 b. 1, 2 wByIb 5 c. 1, 4 oBmIb 5

d. CupseawiL SmaISHID €. alml g flwalsiensw

The plant a native of western ghats that was recently listed under
schedule III of wildlife (Protection) Act, 1972 was
a. Malabar nut b. Karunochi c. Hygrophila

d. Neelakurinji e. Answer not known

aueTallevmi@ (UTGHISTIL) &FLULLD, 1972-601 Sl Leuehenwt 3 &6l S FLOUSHSHE0
Gaiidaliu’ L CuopE CTLTFH wmevenws Gaibs SHreurd

a. o mBxTenL b. smOpTss C. Bipeier

d. Bevd@niehd e. el OHflwalevemev

Missions planned by ISRO in the year 2023 are

1. Aditya L1 mission 2. Chandrayaan 3 Mission

3. Gaganyaan mission 4. Mangalyaan 2 Mission

a.1land 2 only b.1, 2 and 3 only c. 1 only
d. All of these e. Answer not known
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115.

116.

117.

118.

20239110 SLemniged @ero@rmeusd S L OL LI Beiten ailewiGeueils L mibel

1. suFHwur L1 FHirw 2. gphFymwmer 3 SHLib
3. &@HeTET HILLb 4. DBISETWLTET 2 &L LD
a. 1 wBpd 2w Gb b. 1, 2 wBmyib 3 1wl B c. 1 wl®w

d. Bmal SDRIHHID e. allewL O flwalevenso

India’s first indegenously developed HPV vaccine

a. Cervavac b. Cervarix c. iNCOVACC
d. Gardasil e. Answer not known

AbFHwraler (pHev 2 6mpT19BoCw swrfléasiu L HPV seliyd

a. GFTeuTeuTd b. GQaireurigerd C. BaBaTeuTd
d. smiLdlev e. allewL O flwalevenso

The value of a Motor Cycle 2 years ago was Rs. 70,000. It depreciates at
the rate of 4% p.a. Find the present value.

a. Rs. 64,000 b. Rs. 64,512 c. Rs. 65,512

d. Rs. 64,412 e. Answer not known

QT B FoHIJ UTHMSHHET alemev 2 SLIbBHEHDHEG (WP h. 70,000 &
BmhsH. DHeT WA ueiBCHTHID 4% eiHD GOBABSH cTafled, D6
SBOUTMSHUI LD 16DLIH  BHITENwISb.

a. p. 64,000 b. . 64,512 C. . 65,512

d. ep. 64,412 e. alemL  Oxfuialsvemed

If 20% discount on the marked price and then another 5% discount on the
new price is given then the overall discount is

a.22% b. 23.5% c. 24%

d. 25% e. Answer not known

G&Bss almeoulednba 20% seepugub, @bs Us almeouledinbs Guogib
5% sei@pLQUD QBTHSBLILL LT GTHSHHHO HeiEnLIg

a.22% b. 23.5% c.24%
d. 25% e. alewL Gxflwealsdenev

) a +b’ a* —b?
Multiply a’ +2ab+b* Y a-b
a. a2- ab +b? b. a3 + b3 c.a2+ab + b2
d.a3-b3 e. Answer not known

a+b a b 0 OQUmBs SHenL LI

2 & aop BT HO 2
a. a2- ab +b? b. a3 + b3 c.a?+ab + b2
d.a’-b3 e. alewL Oxflwealsoemen

s ?
379’2781 243'—
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120.

121.

122.

123.

42 17 17
" 329 129 729
) % e. Answer not known

258 11 14 ,

39’27’81 243" —
42

17 o 17
’ 312;9 ‘129 ' 729
— e. alemL Ozfwaledensy

243
Brindha secures 85%, 86% and 84% marks in the test papers with 100, 150
and 200 respectively as maximum marks. The percentage of his aggregate
is
a. 84.88% b. 72.61% c. 64.26%
d. 61.44% e. Answer not known
UmbaT  eleiueu 100, 150  oBmid  200-3  SIHsULE OIS THS
QarewiL BxTaled (emBuw 85%, 86% wBBID 84% OUBBTT eieied Sieufles
QwrgHs BCxTFd FHeisld ereren?

a. 84.88% b. 72.61% c. 64.26%

d. 61.44% e. alewL Oxfluwaisoenen

2023 Men’s Hockey World Cup was held in

a. Canada b. Belgium c. Australia

d. India e. Answer not known

2023840 LI SIL AT aBTHd 2 0sHCHTImU 61mhIE HenL OLBBEI?

a. HEILIT b. Guevauid C. oLerdHGrelwim

d. ®bHwir e. el Oxflwalevemso

The United States candidate has been crowned as Miss
Universe 2022.

a. R'Bonney Gabriel b. Amanda Dudamel  c. Andreina Martinez

d. Harnaaz Sandhu e. Answer not known

N AEE o0 20229110 SLEWIYBHTRT 2 605 DIPFH  LILL LD
©leuedImITT

a. o Gumed Gaslifluied b. suoeLr GHLTGWDGD

C. e Menm oML 1pGleorerd d. emfenmed &hal

e. alemL Ozfwalebensy

The best performing state in implementing school health programme and
menstrual hygiene practices
a. Tamilnadu b. Kerala c. Punjab

d. Gujarat e. Answer not known

uelelll  &&THMSH FHLLHMS OCFLOLBHIHIUHID, OTHAILTUI  SHSTHT]Y
B (LpenpHeiievid Fmbad OCFwedHmerr GeTewiL  LOMTHeVLD

a. sOHTH b. Gayemm C. UEhaLI

d. &xyrs e. oL OHflwalevamev
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124.  Match the following

A. National Youth Day 1. January 4th
B. Parakram Diwas 2. January 30th
C. World Leprosy Day 3. January 12th
D. World Braille Day 4. January 23rd
A B C D
a. 4 3 2 1
b. 2 1 4 3
C. 2 4 1 3
d. 3 4 2 1
e. Answer not known
CUITHSHSIH
A. Cpdlw BewerehT Hleuld 1. egeveufl 4
B. ugrs&yw  gHerbd 2. xeuaufl 30
C. 2 s QamupGpTul Heorbd 3. gevteurfl 12
D. 2 v 1907u1e8 Heorid 4. meteufl 23
A B C D
a 4 3 2 1
b 2 1 4 3
C. 2 4 1 3
d 3 4 2 1
e. alewL Oxfluwaledensv
125.  National Girl Child Day is celebrated on
a. January 25 b. January 24 c. January 12
d. January 31 e. Answer not known
Bxpdlw CuaTTIGHPHMBHH6NT Hled OBTERILTLLILIBLD [HT6l
a. mereufl 25 b. sereufl 24 c. ateu 12
d. mereuf 31 e. alowL OHflwalevemsv

126.  Fill in the blanks

and profit of the deed

In time to come; weigh these- than to the act proceed.

a. Expenditure, return  b. with, chosen  c. think, then dare
d. None of these e. Answer not known

Camgl L L Hma BHIFiS

, & Pl EGLD

oI GhaH OFuIed

a. SIfUSHT 1D, SLAISTS 1D b. @a50s1H, CHithosHewrent
C. elewiemil, Hlewld d. @ameu ggIdevemev

e. alemL Ozfwaledensv
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127.

128.

129.

130.

aakkam karudhi mudhalizhakkum seyvinai

ookkaar arivutai yaar

In this kural the term Aakkam means

a. Seyal b. Oodhiyam c. Selavu

d. None of these e. Answer not known

EBD BB (WPHIWSHGD GFuialenet

o GSHMT SiMleyenL  WIMT

BDE@meNed DEFLD CTILSHT CUTHeT Wmgh?

a. Ggwed b. eargluid c. OF6vey
d. @meu ggHIdeOMmeV e. alenL GxMuwelsvanew

According to valluvar whom does will soon perish?
a. does not live in peace with his neighbours.

b. Who is ignorant of his strength

c. One who marvels at himself

d. All of these

e. Answer not known

alemgaled Gal BUGUTeUTET 6160  Sl(HeUeTEHeUT 6leUmTdh FnmISIMIT?
a. oBBeuTHCenTH HSI L EUTHEUET

b. seir auelenioulesr Siemeneal SINSIULITSH6M6HT

C. Haiewen Wbl H eSS OBTemgmHLILIeU6T

d. Bmal SIMSIHBHID

e. aleL G fwalsvemev

What should you do after researching before starting an action?

1. action’s strength 2. his own strength
3. strength of his enemy 4. Strength of the allies of both
a.1,2,4 b.1,2 c.1,2,3 d.1,2,34 e. Answer not known

QM OFwemevnd OCHTLmIG (el eHewet SFTHTEHSW el  HFCFUIme
GuoBosmeiten Gouewt(BLd?

1. Gswederr euellenio 2. FHEIEIML U 6uedlenLD
3. LUenSHAIEIGNL U 6I6d6nLD 4. QmHaUHBGSGID Hlenewrwimereufler aledenio
a.1,2,4 b.1,2 c.1,2,3 d.1,2,34 e. alew Oxflwalevemso

seRunharaik kaaNin sumakka iRuvarai

kaaNin kizhakkaam thalai

In this Kural the term serunhar means

a. arivudayavar b. valimaiyanavar c. selvamudayavar

d. pagaivar e. Answer not known

“Oempenyd STewl6 &ilDHD EBICIN]T

STl HIpHHTD  Hewev  eleil  Gmefled eu@HDd “CFmIBT 6l  CFTe0S 66T
QummeT wirgy?

a. SNsleyenL WeuiT b. euedemtouwimeneut C. OFeLau(LpemL WieuT

d. uenseut e. alenL Oz fwealsoemen
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131.

132.

133.

134.

35 | Page

karudhinunG kaikootunG kalam
karudhi idaththaaR seyin
a. Gnanam b. Gnaalam
d. Gnamali e. Answer not known
HHADID MBFBD HTEOLD
&HFH BLHPTer GlFule.
a. @hTeuTlD b. @pmevid
d. epoed e. alemL Oz flwealsdensv

thotangaRka evvinaiyum eLLaRka mutrum
itangaNda pin-al ladhu

In this kural the term Ellarka means

a. velga b. igalga

d. igaladholiga e. Answer not known
OFHTLMIBBSH 6T6UATMETULD 616TT6NNBS  (LPHBBILD

O RIBewIL L6 D|606VS

BH@GMmeMeD 6I6TeNBH  6TeTLISHT CLITHeT Wmg?

a. Qeuea b. &8ss

d. ®swresmos e. aleL O fluialsbensy

Fill in the blanks

Save their own might they need no other aid,
If in right place they fight, all due provision made.

a. fearless b. army
d. none of these e. Answer not known
Camyl L B HmF HIFlys

SDIGLEVLTEL  FHI660TGICITL T 61(6hFTEMLD
eTeviteml @ HFHMeL Glgullesr
a. S|ehFTemLD b. uenL
d. @ma gHIbevm6v e. el Oz fwealsoamen

Choose the kural for the following meaning

e

. Gnayiru

@Tuiml

. peruga

. Qupis

. wealth

. @F6v6uULD

(The king's) choice should (fall) on him, who is of good family, who is free

from faults, and who has the modesty which fears the wounds (of sin).

a. How treats he virtue, wealth and pleasure? How, when life's at stake,
Comports himself? This four-fold test of man will full assurance make.

b. Of noble race, of faultless worth, of generous pride

That shrinks from shame or stain; in him may king confide.
c. Though deeply learned, unflecked by fault, 'tis rare to see,
When closely scanned, a man from all unwisdom free.

d. Of greatness and of meanness too,
The deeds of each are touchstone true.
e. Answer not known

PH: 044 - 24339436, 42867555, 9840226187



BeLeLGlpulled LImbhal GBBmsaieddmba BRES ufwurd CFwesemend OFuIw
DehFHIM  Hrewild 2 6wl Weuenei@ul HIDLSH Ggefw GeuewiGd -  6leTLINS
2 _mITHIHID GBI 6157
a. 9IBLOLTHET B&ILD o ulFEFSFID [HreTdler
Sphosfba Gopl LG
b. @uiipbs GBBHSSE BRd aELILfub
BTamlenL Wmer &Gl Ogefey
c. oflweBp SLFBBIT Seuiamild OHfluBmISTe0
Betenio 9INBxH Gleuey
d. QuEmWEGLD gmardF FBIMIDSGD HEHHID
SHWED HL L enerd H6L
e. alewL g flwalsbenev

135.  Which one is the great justice text among all the four?

a. Neethineri Villakkam b. Thirukural c. Naaladiyaar
d. Aathi soodi e. Answer not known

sfled fpbs BFH BHrevTs SHMHSLILGMS! 61517

a.pd OmBs alendasid b. HmdbGmer C. [BIT6VIQUITT

d. &u58 &9 e. alenL Gxfwalevenev

136. ithanai ithanaal ivanmutikkum endraaindhu
adhanai avan-kalN vidal
In this kural the term avankan means
a. allal b. avvidam . aasai
d. avanidam e. Answer not known

BFHMA BH@ITL BeUI(PISHGLD GTIBTUIHSI
DIHMDT  DIUGIH6EMT  GIlL_6D
BDEEGBeMNED DleU6iTHEmT 61eTLISH6T CUTHeT WTgH?

a. 9I6LEVEL b. seuai b C. mF
d. sleueiLb e. alemL OFflwealsoensv
137.  Which of the among the following is not other name of Thiruvalluvar?
a. Perunavalar b. Navalar c. Devar
d. Deivapulavar e. Answer not known
Ledteu(heussteuBmie  &lheusiieneuflesr Geouml QUWITHET DIGLEUTHSHI 61517
a. Gu(BBTEIEVT b. mreueui c. Bzpeui
d. Qzuieuliyeveu e. allewL OFflwaievenso

138.  Who does Valluvar refer to as possessor of everything?
a. Person with energy b. person without energy
c. Person with lazziness d. person with wealth
e. Answer not known
6T606VMD ©_6DL WIGUT 6T6TImI aUeTEheUT WTenyd GnILILNGSBTT?
a. 2MEEHID 2 WL W6IT b. eadsid BeOevTHeUT
C. GFmDLIGVIHL WG d. Ggeveu(penL ulees
e. alewL G flwaledensv
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139.

140.

141.

142.

143.

veLLath thanaiya malarnheettam maandhardham
uLLath thanaiyadhu uyarvu

In this kural the term malarnheettam means

a. mannin manam b. pookalin neelam c. payirgalin vilaichal
d. malargalin manam  e. Answer not known
OleueiTeNd HEWETU! LDEVTHL LD LOTHSHTSHLD

2 _6i1611S SHEMEIULIG 2 UITE

£&5GBeM60 LDGVTHL LD 6TeTlgHen OLUmHeT wimg?

a. LoGuwTeNwi6s  LD6wTLD b. ussefer Herd
c. uuiirseflen alenerndaev d. wevitasefes LoGwILD
d. alewL Oxflweaisdenev

kutiyennum viLakkam matiyennum

maasoora maaindhu kedum

a. Uyarndha b. Mangaa c. Kundraa
d. None of these e. Answer not known

SlgGWIeTenILD alleNé&ID  1DIYOUIGTEDILD

TGT WTuIhg C&HHLD

a. 2 _Wihd b. wmisT C. GemT

d. @mal agafeoeney e ol G fwaledensv

netunheer maRavi matidhuyil naankum

a. maaNpayan eydhal aridh  b. ketunheeraar kaamak kalan
c. maaNda uGnatri lavar d. atimai pukuththi vidum

e. Answer not known

CBEBDBT Bl YHIUTED HT6GTIEGHLD

a. LOTETLIWIET 611560 SIMGI b. OsGBITT SHT0sH SV
C. LOTEWIL. © _@hB5l V6T d. siyew HyesHH alBn
e. alewL g flwalstensv

ennum thakaimaikkaN thangitrae

vaeLaaNmai ennunhj serukku
a. Velanmai b. Thaalanmai c. Vaalanmai
d. Vizhaiyan e. Answer not known

FIAIMID HENBHMLOHHW HHISHBEB
Gouenmamiients eleiIaNIGh ©F(HES
a. Geuenmmensiento b. srenmewtenio C. GUITEITTEIIENLD
d. elenipuimest e. allewL OFflwalevenso

Choose the kural for the folowing meaning
He who desires not pleasure, but desires labour, will be a pillar to sustain
his relations, wiping away their sorrows.
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a. Effort brings fortune's sure increase,
Its absence brings to nothingness.

b. In sluggishness is seen misfortune's lurid form, the wise declare;
Where man unslothful toils, she of the lotus flower is there!.

c. 'Tis no reproach unpropitious fate should ban;
But not to do man's work is foul disgrace to man!.

d. Whose heart delighteth not in pleasure, but in action finds delight,
He wipes away his kinsmen's grief and stands the pillar of their might.

e. Answer not known
&SI BauGHmd  alpurtdeueTyl  CoBsosTemiLg  GFwenen (DS
all(pySpeuet, HeT SHBBHSHTMET  HSLUHMFHL BUTEHDGH SHTHRIGH B SHITewT
SLAUTET - 6IIB OUT(HEHECHBM GHMemerd CHTH
a. wpwpd FHmalemer SHGWD (WPWBSlTenLD
B LeHd el
b. iogujeneiT DT(LPHIY 6T6HTLI  LDIQUNGVTEIT
SHT@henTer HToeFull eormeit
c. Qumiuleiiemo W@ LW SiBleumibai
Sl eiTallenst &eTentd LI
d. @b aflenpuine aleneralenipaimeT HerGHe i
FIOTULD FHIDL SHHITOIWILD  SHIT600T
e. alemL Gz flwalstenev

144. atukki varinum azhivilaan utra

idukkaN idukkat padum
ompudhal thaetraa thavar
kaiyaaRaak koLLaadhaam mael
thunpam uRudhal ilan

Answer not known
9Ihs5d auflaib Sialelsorer o MM

Pan o

Bbobdenl BBoHHL LHLD
PLHe0 CHBBT Heuft
mBWTDTES OemetenTHTd GLoed
FHIOILID 2 _MISH6L Eeveir

alemL  OFflwealledenev

can op

145.  idukkaN varungaal nakuka adhanai
atuththoorvadhu aqdhoppa thil
In this kural the term Idukkan means
a. thunbam b. Inbam c. Varumai

d. Noi e. Answer not known

B BHHBHEWI  U(HRIBTED HESHDB HHFHEMT
SIbHSMTaUH DI .0HTIL FHle

BE@meNed EBHSHHEmT IS OLITHET Wmghl?
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146.

147.

148.

149.

a. HIeTLID b. ®eLib C. QIBIMLD
d. Gmmul e. oL O flwalevamev

A man bought an old typewriter for ¥1200 and spent ¥ 200 on its repair.
He sold it for ¥1680. His profit per cent is:

a. 20% b. 10% c. 8%

d.16% e. Answer not known

@m BUT @ umpw sULFasl Gumheow I 1200 @ aummd S LS
Béhsd FuusBG 200 OFowe Gauig, ms I 16806@ alBuamer GFuIsmT.
SlaUHEOL W @60l al(p&HHT(h:

a.20% b. 10% c. 8%

d.16% e. alewL Ggflwealsdensv

If a2 + b2 = 234 and ab = 108 then find the value of %

a. 10 b. 8 c.5 d.4 e Ansvilfer not known
a2+ b2 =234 iwopmib ab =108 erafled % -1 IDFHLIGnLISH  HT6NI.

a. 10 b. 8 c.5 d.4 e ol GQHfluwalsdamen

Which of the following pair of numbers is co-prime?

a. (17,15) b. (10,16) c. (20,24)

d. (31,62) e. Answer not known

LedTeu(meueteuBmIen 6ihdh Gxamy erewidbeil GOFHTLTLEML W LIST 616016 GLW?
a. (17,15) b. (10,16) c. (20,24)

d. (31,62) e. alenL Gzflweaisdenso

If the numerator of a fraction is increased by 15% and its denominator is
diminished by 8%, then the value of the new fraction is % Find the

original fraction.

a. 1 b. é C. i
4 4 16
15

d. o e. Answer not known

@ Uaearsdear oargdwmas 15% oidsfssiu’ G sigear ugdurars 8%

GmBSBLIULH auHd LlesTer &L % aTeufleL, OHTLHPH LieTerrd 6Tesrent?

a. 1 b. 3 C. 3
4 4 16
15 .

d. o e. alemL Gxflwalsbensv
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150.

The marked price of an article is 10% higher than cost price. A discount of
10% is given on marked price. In this kind of sale, the seller bears:
a. no gain, no loss b. a loss of 5% c.againof1

d. aloss of 1% e. Answer not known

Qm  OQummemen  alBuemet OCFUIMSBEG — Hitewrwd  GFLwiulL  allenev
DSDDLL 9ILES  alemevenw el 10 alWwHETh @ SDHBD LS.
Bitemulssiul’ L aleneouledmba 10 alpsdsth  SHelepUy  aUPHISLILGS MBS
Obs eumswTe alBumeauled SibhsH alBLMETUTeN(HhEGS L LLg?

a. BeoTUIpD Be0enev, HLL(IPID Be0Venev b. 5% mIL1b

c. 1% @evmuid d. 1% B

e. alewL Oxfwealsoenso
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